Chapter 13: Integrals and Riemann sums

Atz 2 helix length = 26.66

L(2) = 24.71 At=15

helix length = 26.66
L(1.5) = 25.51

https://mathinsight.org/parametrized_curve_arc_length

At=1.15

helix length = 26.66
L{1.15) = 25.95
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circle is similarly
less than the area of
the circumscribed

d  hexagon, which is

6/43 =3.464

www.maa.org/book/export /html/864399
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www-users.math.umn.edu/ arnold//calculus/archimedes

Archimedes
stopped here




Ex 1 [ [{(@?—y?)dady = [{(5—y*0)[idy = 515 =8y — (5 —4y?)dy
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Ex 1: ff f02($2 — y*)dydr = f48(952y — L)sde = f48(2:1:2 — 2)dx

=223y 93 49

— 2P(242) —2— 22 4 1) = (32— 2 — 4+ 1) = 2(27) = (32)(9) = 288

Note since functions are continuous:

fo f4 v — y*)drdy = f4 fo y*)dydz



